Puzzle 9723 - Thursday, 02 October, 2014 - Difficulty 3

15 16 IR =2 I b (N 6 |
8 7|92 |3 |4]61|5:
,iiiiii”é,iiiii 3’7’:::’::::::,: éffjji,fffff:,: i’é””ffffff,}
1|6 13}8 |9 15[4}7)|2
L I R 7 | 1|16 L 15
41256 |117]19|3|8:
:’1’1’11’ fffjjj,,iiiiii"a’_l’i" fff::;: ’1’1’111 ,111111‘3 i
511|642 |93 |87
%f::,,iiiiij’{é’:’ :f:;‘ ’gfjiiijfffjj;: i%’””fffjj ,,,,,,,,,,,,,,,
34758112 )|9/ 6
:1’7””,:”2’4’" — ’gfjiiijfffjfj,: ‘9’11111111111’, ;1?::::‘
2198|716 |3]5|41
pr—— 5’ - ::::3 i;{i” ff:ff,:’ :3’,:1 ,,,,,,,,,,,,,,,, ] ’7’"’
7|8 4f9 | 512 [1]16]3)
20 | 7| sy
6| S5)1]13|4]8]712]|9
5 1T 8 | 141 9 1
913 /2f1/716[8]5 |4

Copyright (c) www.dailykillersudoku.com




